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Question 1 

(a) Part (i)   
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Question 1 

(b) Part (i) 

j
j

j
e

e
e

w
w 25.1

75.0

5.0

2

2
1 18

2
36

==
−

 :  25.1,18 == θr radians       [2] 

Part (ii) 

( )( )
j

jjj e
eeeww

5.0
5.075.05.021 12

1
12

1
26
11

===
−−

 

5.0,
12
1

== θr radians               [2] 

 

(c) Poles:  jjxxx
2
3

2
1,

2
3

2
1

2
411012 −−+−=

−±−
=⇒=++  

Zeros:  404 −=⇒=+ xx  

                    [4] 



Solutions to UFQETH‐10‐1 EXAM 2009 – 10  

3 

 

 

Question 2 

(a) Solve  ( ) 10,144 =+=+ yty
dt
dy

 

y = complementary function + particular integral        [1] 

Complementary function 

Solve:  t
CF Aeyy

dt
dy 404 −=⇒=+             [2] 

Particular integral 

Let  a
dt
dybaty =⇒+=  

Solve  ( ) 144 +=++ tbata for a and b 

( ) 0,11444 ==⇒+=++ batbaat  

And so  tyPI = .                [3] 

  General solution:   tAey t += −4  

  If  ( ) 10110 =⇒+=⇒= AAy  

  Solution:   tey t += −4                 [2] 
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Question 2 

(b) Forced response 

Let 

 

( ) ( )
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Solve 
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r a and b 
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                    [1] 
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Question 3 

(a) 22 24 yexz xy ++=  
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which proves the required result. 
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Question 3 

(c) 22 yxV +=  

Generating partial derivatives 
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Question 4 
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Now take cross product 
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⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛
−
3
6

4

61
1

              [1] 

(c) 
⎟
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜
⎜

⎝

⎛

−=
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛

−
−=

2
5,

8
4
3 2t

t ba  

For two vectors to be at right angles to each other  0=⋅ba      [1] 

39.7,72.0
6

59220
6

19240020

016203
2
5

8
4
3

2

2

−=

±−
=

+±−
=⇒

=−+=
⎟
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜
⎜

⎝

⎛

−⋅
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛

−
−=⋅

t

t

t

tt
t

tba

 

                    [3] 



Solutions to UFQETH‐10‐1 EXAM 2009 – 10  

9 

 

 

Question 5 

(a)  AB produces a 2x2 matrix whereas BA produces a 3x3 matrix so  BAAB ≠ . 
Alternatively students may calculate the first element of each product to show these 
terms are different. 

[3] 

(b) Part (i) 
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Question 5 

(c).   
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Back substitution 
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